Efficiency vs dr

o 0.02
<
9.018
d.016
c
Q
®.014
=
9.012
0.01
0.008
0.006
0.004
0.002

—=— DQM_V0001_R000000001__Global__cmsswi000time__RECO
*| —— DQM_Vv0001_R000000001__Global__mkFitNewOLD1000time__RECO

Ratio
N

—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

1

0.5E—— il
1078 1072

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

50.02
i F
9.018F
P.016F
(] r
®.014F
t -
9.012F
0.01F
0.008F
0.006F
0.004F
0.002F

OIIII
14F

1.2F
1
0.8F

20

Ratio




	Contents
	Page 1


